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Let

d8 = the difference in the proportions of even- and odd-eighths (i.e., d8 = f0 + f2 + f4 + f6  - f1 - f3 - f5 - f7);

d4 = the difference in the proportions of even- and odd-quarters (i.e., d4 = f0 + f4 - f2 - f6); and

d2 = the difference in the proportions of even- and odd-halves (i.e., d2 = f0 - f4).

Then the extent of quote clustering (QC) may be measured by

(1)

QC = (1/8)d8 + (1/4)d4 + (1/2)d2.

It can be shown that

(2)

f0   = 1/8 + QC

Hence if QC > 0, then f0   > 1/8 = 0.125

From (1) and (2),

(3)
  f0 = 1/8 + (1/8)d8 + (1/4)d4 + (1/2)d2.
Hence 

(4)
 8f0 = 1 + d8 + 2d4 + 4d2.

Substituting

d8 = f0 + f2 + f4 + f6  - f1 - f3 - f5 - f7,
d4 = f0 + f4 - f2 - f6, and

d2 = f0 - f4  into (4)  and after simplification, 

We obtain

f0   =  1 – (f1 +  f2 + f 3 + f4  +  f5 + f6 + f7),

or alternatively,

1 = (f 0 + f1  + f2 + f 3 + f4  + f5 + f6 + f7).




